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S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2

EXI1t 2,396,738 2,869,443 A472,705
= 1,958,000
= 438,738

EXZe SEHIELXAMNL/XNALZAI) 2,354,943 2,830,743 475,800
= 1,958,000
= 396,943

nAHSHo EXYE =294 11,000 12,000 1,000

EXZel & HAHEAN =E 11,000 12,000 1,000

201 2Er2gY| 4,000 4,000 0

01 Ab=22keldl 4,000 4,000 0
OZXA=A 2ZEIEA 88 222 4,000

202 04H| 7,000 8,000 21,000

01 UK 7,000 8,000 A1,000
OEXZel & HAEM =E 7,000

ENNE 24 23,000 92,821 69,821

ANH=Y g2t 23,000 40,000 A17,000

201 224l 15,000 30,000 15,000

01 At 22l 14,000 29,000 A 15,000
OAl - 228 22X A Xzt 3,000
OXHAS 29g 4,000
O8Il 2&ae 7,000

03 AH=Z I 1,000 1,000 0
OXHAOILE & H&3 iz 1,000

202 o4l 8,000 10,000 A2,000

01 =W ol 8,000 10,000 A2,000
OXNH=g4d el 8,000

ZAFLS - NES ALY 937,000 1,339,400 402,400
= 658,000
= 279,000

SAIEANY =4 2 G2 279,000 249,400 29,600

201 224l 171,000 141,000 30,000

01 At 22l 34,000 4,000 30,000
OB 29 & 442 4,000
OBSEAX HI= At 30,000

02 5524l 137,000 137,000 0
OXNXHHAFH FANE+ 76,000
O=INSAIESEHANLE FAE+ 61,000

202 o4l 8,000 8,400 A400

01 =W ol 8,000 8,400 2400
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D EXNZLY sEHFEXNGML /NS
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S - EB . CI(3) - NEANY - B St HIBE2
OsAdE =4 & X2 8,000
207 A 100,000 100,000 0
02 & &I 100,000 100,000 0
O3zt 20 242F N 100,000
C2II8t XStAIEd 2 dats(=1) 658,000 1,080,000 A432,000
= 658,000
403 MHRIHS K201 658,000 1,090,000 A 432,000
= 658,000
01 HXSHHMA=Ex 658,000 1,080,000 A432,000
Ok=ZJIgt XotAlgE &
29 658,000
= 658,000
C2YFA - BSE 21 72,943 382,122 A309,179
CR2EFA MY =W 43,000 15,000 28,000
201 229y 35,000 7,000 28,000
01 At 2teldl 35,000 7,000 28,000
Oz NERAAS =2<E 3,000
OFS&SHY digt =X 2,000
OL2EFA EE FI 30,000
202 ol 8,000 8,000 0
01 =W ol 8,000 8,000 0
O 2HEFA MY FT 8,000
CEYFAIIZE FNBS ALY (2 19,043 17,296 1,747
403 X HHS =201 & 19,043 17,296 1,747
02 SO 2SO0ICHEt K= = T AL 19,043 17,296 1,747
OL2EFA JI2k =X 19,043
CRYEFA - BSH 2 (FoHA 10,900 9,496 1,404
403 MHAIHSAHZ01A 10,900 9,496 1,404
02 BJ12soe =80 10,900 9,496 1,404
O==2HFA Z23 2 10,900
KIETHZEAFARS 1,311,000 1,004,400 306,600
= 1,300,000
[ 11,000
KA ZAALSY F=&(=1) 1,300,000 1,000,000 300,000
= 1,300,000
308 AtXIEHMSOIH 1,300,000 990,604 309,396
= 1,300,000
01 IXHMBSEXS 1,300,000 990,604 309,396
ORXIETHZAFAH 1,300,000
= 1,300,000
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SA - HH SR (B) - MRAY - BAS il &t e imE=T

K& THZE AFAL 11,000 4,400 6,600

201 Y EH2 | 5,000 2,400 2,600

01 At 22l bl 5,000 2,400 2,600
OXIEMZEAR 5,000

202 04dl 6,000 2,000 4,000

01 2401t 6,000 2,000 4,000
OXIETHZEALALS 6,000

HYSHAALI(EX D) (IIEHIIE 41,795 38,700 3,095

Jl=&Hl 41,795 38,700 3,095

FH2E JI=34| 41,795 38,700 3,095

201 LB 26,195 24,500 1,695

01 AFR 22l bl 26,195 24,500 1,695
oORAMN29g 26,195

202 o4dl 11,400 10,000 1,400

01 =20 YI 11,400 10,000 1,400
ORM2E SN 11,400

203 YR =&l 4,200 4,200 0

M4 REN2ZLR= 4,200 4,200 0
©30¢! 0lat 350,000& 123 4,200




